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And he agrees with — 9727 71225 J172n% 27137 927 %R PWRR 9295 79 120
w''%, who maintains, something which causes money is like money

Overview

827 explained the ruling of »n"3 that one is 21 for 'm '7 "m>wn if he stole and
slaughtered a 90371 MW, even though, since a P01 MW is 7RI NOKR, SO 7°NT WY
v nwp. The ruling of »"7 will apply in a case where the ox was given over to a
watchman and it killed someone while by the watchman (so it is a %p017 W), and
this ox was subsequently stolen from the 9212 and slaughtered by the thief; the thief
1s responsible to pay ' 7. We assume that n"9 agrees with 2py> '3 that the 9w could
have returned this 7p017 W to the owner and be exempt from paying for it (even
though it was already deemed a Spo17 ). He also agrees with w"2 that 07137 727
M7 1N 1M, so since this thief stole the P01 MW from the MW, thus causing a
loss to the 7w, for now he must pay the owner for the ox (since he cannot return
it), therefore the thief is liable to pay 'm "7. Our N901n explains why we do not know
on our own that 1" maintains >»7 1712 117 07137 127.

n1voIN asks:
= 1915959 NI PRTT MNPV NN 2297 N1IOD PYNY 2290 9209 9199195 1D NIDT NN

It is astounding, for why was it necessary to say that »"7 agrees with w''
(regarding 1n% 077 127), the X3 should have said that »''1 follows his own
reasoning, for n"2 applies the rule of 295 -
- (3,08 1y0pY) NP SN2 9INR NNT 21100 09930 9373 29N 19V a4
So certainly, he will hold one liable in a case of 1»® 27137 227, since the X1
states in the first »17 P30 -
= 19912 Y923V 9297 T 1I9NIT PIYIY 239 9TINRT 9N
‘You can say that @''2 maintains 115 07137 727 is like money only by something
which is essentially money (like when someone damaged your o°w7p for which you are

responsible for®); however, regarding -
- 4355 NYAY 1 Y1930 HY PIIOY GNY PID PN 1975Y PNY a4

L>maa or ‘causing’, is a certain type of loss that is incurred indirectly. »"9 would hold one liable in a case of *»73. The

difference between 1712 01137 727 and 73 will become clearer as we continue in this nM901N.

2 See ‘Thinking it over’.

3 See shortly in the X723,

4 We have here two types of indirect damage, one where someone steals JN7IMN2 27w o°w7p, which is considered

711 1Py (the animals have an intrinsic value); this is called wn% 07137 227 (for the 2°w7p do not really belong to the
1
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Something which is not essentially money, for instance one who burns the loan

documents of his friend, have you then heard that "> would hold him liable -
= (ow) 3,08 971mPY) DNN 1PPINTI PMIVY 991V 2NNT 9NN 29 19 ON

So therefore 2''Y who holds one liable for burning someone’s n1uw, as the X7n3

states there -
- 511}:}35 099 9292 2”NNT )9V 55 NIYYN NIOVY 7 N2 22X M9)T XY PINTT INNDT

That one who is 52937 X1>7 1°R7 (namely n"7) will collect from the MY 77w the
value of a legitimate “vw, so he (1"7) will certainly hold one liable by a 29137 937
Tnanb!

MB0IN answers:
= 99907 NI*TA NN 9NN 229 299N19 R IND YT NIOIN 9129127 NI2D 03 NIINT 91910 W

And one can say that there is also a reason to say the opposite (that *»7 is stricter

than 1121% 073, so), that when is 2912 2''9, only by 13 cases -
= 52 79209 91915 09PN DI HVWN MNNIY 12 REIDY 19520 DY MY 99I1V1 D

For instance, where one burns his friend’s documents, and similar cases, where

this document is fitting for everyone to sell it and to collect with it -
- 8N Yab NNAND DMINT 719N YW INNIIAN 22X Yy 1393 TH0NA 1

And similarly, where one spreads his grapevine over his friend’s grain; where

the grain is fitting for everyone
- HINPINNA 29NY DIYWTPY YP03N Y 113 MY BN 9327 Yax

However, in the cases of Pan® a7 227, like ®poant 2w and a%xw7p, for which he

owner [the 327777 7¥2]). The other case is where one is 17°2n 5w MW 91 where the T0W is not 13272 17P°Y (it has no
intrinsic value; it merely represents value); this is considered *»73. The X3 is saying that w" is 2°mn by 07137 727
7117 but not by *n13; indicating that there is more reason to hold one liable for 111% 07137 727 than for *naa.
> m90In mentioned previously (see footnote # 4) that from the X723 it appears that 77an% 037 727 is stricter than 73,
so it follows that if »"9 is 21 by "»73 he will certainly be 2> m by wan? 07131 127 (the case we are discussing by '7
‘). The question is why does the X n3 state that we need to assume that »"7 will have to agree with "9, when it is
obvious that »"1 maintains that one is 2°11 by a %1% 0717 727!
® The burnt 0w, before it was burnt had a monetary value for everyone, it could be sold, and whoever has it can use
it to collect the debt; it is of universal value (as opposed to a 1n? 07T 127).
7 This too is a case of 74 for he is merely covering his friend’s grain with his grapevine, but by doing so it becomes
7R172 70K on account of 012571 °X92; he did not destroy the grain it is merely *»73. [See the X7na there that the case of
173 is by 11X791W 07371 nX 11 (but not by 1193 7207, 5"DDN1,]
8 The grain, before it became o°%23, was usable for everyone; it had a universal value.
° Maon answer is that in a certain respect 1712 07 is stricter than 73 (because 117 172°Y) and on the other hand 273
is more strict that 7van% o1 (because it is 02Ww;7 937 *1X7), therefore if one maintains either one, we cannot be sure that
he will also maintain the other. Therefore, the X711 could not have assumed automatically that »"9 maintains 07137 727
M7 1Mo Pan (because in a certain sense *»73 is stricter). Therefore, the X3 has to say that (even though we do not
know this for sure, but in order to explain "2 by P01 1MW) we must assume that 1" agrees with w"1 regarding 23
nany.
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is liable, in these cases, the items lost or destroyed -
- PYRY 2395 AY 20T NP 590Y VNI 239 2N XY oKy 13 H09Y AT NIN INT N

Are not useful except for this person, so he can exempt himself from liability
through them, one can argue that »'' will not hold him liable, therefore the X723
needed to say that presumably n"- agrees with @''s.

mooIn offers an alternate explanation:!!
- PUNRY 3299 1Y 9207 TND ¥3NDT DU Y

And some explain that it was necessary for the X711 to state that »"1 agrees with

@' (and it is not sufficient to assume that " certainly maintains that 7727 271 is 77R02) -
- 1”3)35 090 9372 YNNI NYAIN 29N9T 128910 MNP PYNIY 2157 DIvn

Because @''1 explicitly rules that by a J7%% 2717 927 one is liable even for '/m '7 -
= 99907 NP2 NI 29 29N1NT INNN YaN

However, from the fact that »''9 is 291% by 97 K17 -
= 19919 D991 9272 HYNNI NYAIN 3NPY B3Hvond PN

One cannot prove that »"1 will maintain that by a 3% 29177 927 he is liable for
Y —

A final explanation:
= 19299 NON 9NN 349 299N010 RY 919957 RIPT2T Y91 TUN )3 PNYY 12%29)

And the X''2°9 explains that regarding 2937 X1°7, he is only j1297% 2911 according
to »''1, not Xn»7IXTA, so we cannot assume that he will pay 71 '7 which is a Xn»7IXT -

$[990 5NN T N, Y MaoIn 1o¥] (.X,20 97 DryY) 493190 9992 N1
As is evident in the end of 211277 P15.

Summary
We either cannot be sure which is stricter 1717 2713 or "»73, or 273 will not cause

you to pay "M '7, and finally >»73 is only 73277%.

10 The one who stole the 2po17 M stole something which is worthless for everyone except for the % who can return
it to the owner and be exempt from paying. The same is regarding 0'w7p; whoever stole it, stole something worthless
for it belongs to wTpn (no one can use it for anything); it is only worth to the j27p7 23, since if he has it, he will not
have to bring another j27p, but if he does not, he will need to bring another 7277 at his expense.
! This answer will maintain that "3 can (certainly) agree that one is 21 even by 1717 0137 127, but nevertheless we
still need to say that w"13 7% 720 ",
12 See later 2,7V in the mwn.
13 Even if we assume that 7vn% 03 is stricter than »»73 that could only prove that one is 21 for 7% 03, and will be
required to pay for the damage he caused, but not that he is 'm "7 2n. Therefore, we will need to assume that "9
agrees with w" that one is "M '7 21 by 1712 7.
14 See the NMo0IN mentioned in the bracket for the proof that it is 7312777.
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Thinking it over

MooN writes that if n"7is 1737 X1°7 X7, he will certainly maintain 7%1% 0737 127
"7 1nd.15 Why is it necessary to make this a certainly (a w">), why did not msoIn
say that he will be liable for 'm '7 since it is a case of *272?!

15 See footnotes # 2, 4 & 5.
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